BERAICAHAEITILIVI—avDHFICETIEMRERRBERR BME1)

(22121 =)
#h EMS5100cmTHDZERIREZE (1 Sv/h)
SHTEE
B/ERA (2K =X 1.83
[212#h 5] &=/ 0.03
Ty 0.20
BIREEN =X 1.83
[65Hh /] &=/ 0.03
Ty 0.41
EEEEN =X 0.44
(454 ] &=/ 0.06
Ty 0.14
HAXEERN &KX 0.23
[38#h s ] &=/ 0.04
Ty 0.11
WMEEEN =X 0.19
[11#h ] &=/ 0.06
Ty 0.11
2EEEN =X 0.11
[39#h /] &=/ 0.05
Ty 0.08
BMREXEERN &KX 0.10
[144h 5] &=/ 0.04
Ty 0.06
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h £ M 5100cmTOHZEFEEREZE (1 Sv/h)
FRIEE(EE) SHNTEE T 304 FE i (D 1235
BEERN (2K =&KX 2.13 1.83 A 030
(2061 5] =/ 0.04 0.03 A 001
15 0.22 0.20 A 002
BHEEN =X 2.13 1.83 A 030
[63tth =] =/ 0.04 0.03 A 001
F iy 0.44 0.40 A 004
BEEEN =X 0.53 0.44 A 009
[45tth =] =/ 0.07 0.06 A 001
15 0.15 0.14 A 001
HAIXEENR =K 0.26 0.23 A 003
[37#h =] =/ 0.04 0.04 0.00
15 0.13 0.11 A 002
WEEENRN =K 0.19 0.19 0.00
[10tth ] =/ 0.08 0.07 A 001
15 0.13 0.12 A 001
2EEEN =X 0.12 0.11 A 001
[37#h ] =/ 0.05 0.05 0.00
15 0.08 0.08 0.00
BAREXEERN &K 0.10 0.10 0.00
[14tth =] =/ 0.04 0.04 0.00
15 0.07 0.06 A 001




